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e Rationalizing the Denominator...

(IT) Binomial Denominator
Conjugate S- = 5"' 'fs'

The conjugate of the two-term expression a+b 1s a—b

and visa versa. —2 ,\67 _____:_> _.3&’7

For each of the following, identify the conjugate of the
expression. Then find the product of the expression and its
conjugate.

Expression Conjugate Product
2
(a+D) (a=b)  p%abialy -
A —

b /1
(x—7> \fi-,.7 = )/-/7f)/—7/7.-

Wieals 33—



Fact The product of a square-root expression and it’s
conjugate 1s an expression containing no square
roots (i.e. a rational expression).

Use this fact to rationalize the following...
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fé @E :?1/67(-3(/‘\3
>






Practice Problems....

Worksheet
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EXERCISE 2-9

1. Express as entire radicals.

{a) 55 (b) 2v7 (©) —3v11  (d) 4V2 le) 3v7
H 3v2 (@ -295  (h) 2¥3
2. Express as mixed radicals. \.!
(a) V27 (b) Vo8 (c) V288 (d) V75 (e) 200
f J=27 (o) Y128 (h) Va8 /v
3. Simplify. -
ML V16 ©) V20 (d) /8 (e) 42 WE
Ll -y AN yn Ji28
v N V64
J= 80
gy 22 (@) 5= () =
=2 ¥s
4. Collect like radicals. i .
5v3+2V3 (b) 3V5-2V5 () 6v3+2v3-4V3 §T . v -
. 5+ 5v6 W2 5v2-7V3+3V2 EEE_ g
(d) 4/6-3VB+5v6 (o) 4V2-5v2+W2  (f) g, 5 ik
5. Expand and simplify. 7m2 4 3 Rm 3 mﬂ
(a) V2(v/6-3) (b) 2V3(v5-2) (c) 3vB(2-+2) J3 e = tyx= 3
(d) 3v2(V2+1) (e) Valvb-2) ) Wa+vbia s55e sz 5 ¢
(@) W3-17 {h) (v2-3p (i) (V2-5)2v3 o
9. Simplify and collect like radicals. i MH
o |0 =
(a) 3V2+5V8-2v18+2v32 (b) 2v/20-V125+2V45 +6v5 w(.mm e 3
(c) 3v3+2J20-12+/80 (d) w«mxm,@t_,\wﬁmm se |2 .
le) 4V99-7V12+3V44-2V22 () 4v/50+7V32-5v7 208 oS o 5t 23
10. Expand and simplify. 8 % iy =
(a) 3v2(2—+6) (b) 5V3(2—6) (c) 2V5(v10-2) $8E3D 4Mmm P
w |
(d) (3v2-1) (e) (v3—V2p (f) (2v3-5v2y 5o b
(g) (3Y2-1)(3V2+1) (h) (4—V5)4+V5) i) BV7-1)3V7+1) | mmm sz |
() (BV2+7(3V2+5) (W) (V2+5)(2v2-3) () (25-3V2)WE+2V2) | EBEE o YE
2 Te 75 (m
ol -
T g5 T0tl
TTeEes(8€ B 8
o<
23
o
833
) _
ﬁb e
@ S x x
LEZ,@ @Z%N ¥ Wﬁm
ﬂﬁ3571_,22 ®© X | in
P TTTTTEEESE 8 &
Renod 6 ¢ R @

4 w rs)
\/\:} Tf,& \ﬂm Tlr,osm. £ \ﬂik\oxu /U

(e} V3+8v5

(b) 115

9. (a) 15V2

{f) 34v2-5V7

(e) 18V11-14V3-2v22

(b) 10v3-15/2

(@) 17

m i

(d) 26V2-7V3
10. (a) 6v2-6v3

(e) 5-2V6
(i 53+36v2

(d) 19~6v2
i) 62

(c) 10v2-45

h 11

0-2

(f) 62—20v6
&) -11+7v2

EXERCISE 2-10

A 1. Multiply the followin
(a) (3vB+1)(3V5-1)
(¢) (VI-VB)(VT +VB)
(e} (Va—Vb)(Va+Vb)

B 2. Rationalize the denominator.

g and state which are conjugate radicals.
(b) (2V3+1)
(d) (VB+V7)(v7-V5)
() (3v2+1)(3v2+1)

iy B2 w V3B 2 ap 22
V5 V2 3v6 36

3. Rationalize the denominator.

(a) —3_ oy 2093 fof L2ET
2-V2 2-v3 V2-1
V3-v2 3v5 2V5-3V2

(d) = (e) (M =2
V3+v2 V2-3 V542

12 25 L3V7

(@) —=— h) —= @ =2l

2v6-3 VB++v/3 2v2-5

4. Calculate each of the followin

g to two decimal places by first
rationalizing the denominator.

1 1 VE+1
(a) — (b) = (c)
V3-v2 3-V5 V6-1
,\w.r\m N/\w wz\M
Y- fe) - i
3-v2 v5-1 2V3-42
3v3-2 25—
(9) V3-3v3 (h) Bl (i) 532 |
2V3-3/2 V542 2v3+v2 |
SeLursens
Exercise 2-10
1. (a) 44 b) 13+4V3 () 2 (d) 2 ) a-b
3v10 V6+v10 V2 V30
2. {a) v2 30
=5 o= @3 L
6+3v2 ~
3. — (b) 9+5/3 (e)3+2v2 (d) 5-2v6 (@ —
16-5v10 8v6+4v3
M —— gl th) 5-/15 ® 2v/14-435
4.(a) 3.14 (b) 1.31 {c) 2.38 i
i 0.82 @ 149 c) {d} 9.90 (e} 3.62 f) 2.07

(f) 19+6v3

—9VR-37

(@) -4.11
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